TABLE OF CONTENTS
SHEET DRAWING
10F3 Median FLEAT MGS Terminal (FLEAT-MT-MGS)
(2'-1" Mounting Height/TL-3/Median)
20F 3 Median FLEAT MGS Terminal (FLEAT-MT-MGS)
(21" Mounting Height/TL-3/Median)
30F3 Median FLEAT MGS Tegminal (FLEAT-MT-MGS)

(2'-1" Mounting Height/TL-3/Median)

Jim
Wilkerson <

1. The guardrail approach terminal represented on these drawings is a proprietary design by Road Systems,
Inc. and marketed under the name FLEAT Median Terminal (FLEAT-MT). Any infringement on the rights of
the design shall be the sole responsibility of the user.

2. These drawings are sufficient for plan details of the FLEAT-MT when installed in connection with
double-faced guardrail and precludes the requirement for shop drawing submittals unless the plans call for
such submittals. The FLEAT-MT shall be assembled in accordance with the manufacturer's detailed
drawings, procedures, and specifications.

3. The FLEAT-MT is available in a timber post configuration. The wood post components are:
Posts #1, #2 and #4 are wood BCT posts in 6' soil tubes
Posts #3, #5, #6 and #7 are wood CRT Posts

Posts #8 and #9 are 6' wood posts

4. The FLEAT-MT is intended for use as an approach terminal for double-faced guardrail applications. The
beginning length of need point is located at Post 3 (see drawings).

5. The FLEAT-MT shall be installed as a double-faced approach terminal, but is only permitted in medians
where there is a minimum distance of 6'-0" from the traffic face of the FLEAT-MT to the edge of the paved
shoulder.

6. The FLEAT-MT can only be used for double-faced median applications.

7. For detail of grading around end terminals and miscellaneous asphalt pavement see Index 400.

8§ Road Systems, Inc.

REVISIONS Median FLEAT MGS Terminal (FLEAT-MT-MGS)

pate | By DESCRIPTION (2'-1" Mounting Height/TL-3/Median)

: " 03126/2017 " FLEAT-MT-MGS
T T " 10F3 | FElorida APL No. $536-003-001




Standard Median Guardrail, Special
/Trunsition or Other Special Treatment
|

End Measurement for Guardrail Payment

Rail exit on

TRAFFIC traffic side
E_= - T | 3] - goul T Il\:iII L “
' | | ; ; o e f
—s I 1 o I 1 I 1l I /

Location Station

TreFfi Foce/ Field Bend/ Beginning of /

Length of Need

)

12'-6"

18'-9” At 1:9.4 Flare Rate

NOl—

Approach Terminal — Double—Faced (53'—1

PLAN

3?—11” 6,-—3” . 61—3!1 @ 6)_3" @ 6’.—3" @ 6’—.3” @ 6’—.3" @

6'-3" @ 6'-3"

\— Rail Exit on

Traffic Side

TRAFFIC

Location Station

2 .
Beginning of Note Rail is
Length of Need not attached
/ @ Post 3
—_ i ) O o i s 1 T T 5
- — I—+ —+ : : —1 i — HH :&‘7": E T = 1
== = - === = = = R o= e— i =i I
) . B ) ) N i} ) N __ﬂr\; i il B 2? ; 1 1 B
= = = e = :
\»,\y/). )k/.a\ /)}\ﬁ)‘, ¥ "‘ :‘/‘. \W N
L - - =k | b ==
Wiy — _
S WILkg
Ski O D Z
=i e N
=5 = ixs
’ajé‘;g.._ ATTEOR ,.--'é_i‘,fs m Road Systems, Inc.
it - - ¥ Rl or1OT RS :
SP;’?{QE&onQSfEM ;;p;;;rToEc]:h ;Ersr:;lal é[éostljg:f FacTeEcIS)T - @W REVISIONS Median FLEAT MGS Terminal (FLEAT-MT-MGS)
MODEL | "wioTH | HEIGHT | LENGTH | LENGTH | SPEED | DESIGNATION 2 g/ 07 W | Y DESCRTION (24 Mounting HelghtTL-3/Median)
FLEAT-MT| 41 1/4" 31" 53'-1 1/2" | 40'-7 1/2" | >50 MPH -3 “&g} XD ENGINEERING, PLC DATE: 03/26/2017 FILE NAME: FLEAT-MT-MGS
O T Y2 0F3 | Florida APL No. $536-003-001




Standard Median Guardrail, Special
Transition or Other Special Treatment

End Measurement for Guardrail Payment

®\

TRAFFIC

Rail exit on
traffic side

(¥, b(8), c(8), d(8)

Location Station

-5 /@
[= T - | I - o - { .
¢
? i i 1 ? i \i} DEPARTURE LN
./ @/ @5 et f_/ i \ i Exit on
@ _ Lo o] e Troffic Side
(Field Bend) —————————18'-9" At 1:9.4 Flare Rate
Approach Terminal — Double—Faced {53’—1%") TRAFFIC

— 3-15 6-3 6 -3 6-3 6-3 6 -3 6-3 65

2

PLAN

@

of

Beginnin
eed

Length of

Note Rail is
not attached
@ Post 3

i
1R

HFINR

(FWH
1o

——ee

@ Location Station
6) _3”

Specification 536 —

Approach Terminal (Double—Faced)

MODEL SYSTEM | SYSTEM | SYSTEM | DESIGN | DESIGN TEST LEVEL
WIDTH | HEIGHT | LENGTH | LENGTH | SPEED DESIGNATION
FLEAT-MT| 41 1/4" 31" | 53-1 1727 | 40'-7 1/27 | 250 MPH TL-3
Argur{;d ;abLe "
A and feed chute
; g - D 5 ? (F,_b(8), <(8), d(8)
!
4+ = |
bl 1
IE L -
il D
= @_"_‘fjlq L
NN \® @
£ m 1 g, m, n

g

e
ND VIEW OF POST 1

BACK VIEW OF

Put short cable loop
between feed chute
and w—beam rail

POST 1

Slip long end of
cable through loop

Washer
under bolt hea

Rail nol bolted to
A Block this side only.
N

1\ T A\
N vm\@ I > H @@
B 8 A
ELEVATION e e

ITEM | QTr DESCRIPTION PART #
A 2 | FLEAT IMPACT HEAD F3000

B 3 | SOIL TUBE, 6" x 8" x 60" 5730

c 2 | BEARING PLATE E750

D 1_|3/8" GALV Cable 20'-0" 3820
E 2 BCT CABLE ANCHOR ASSEMBLY E770

F 2 | CABLE ANCHOR BOX S760

G 1| GROUND STRUT E780

H 3 | UNIVERSAL BCT POST UP650

J 1| POST BREAKER PBMT

K 4 | UNIVERSAL CRT POST UP671

L 13| TIMBER BLOCKOUT (6" x 8" x 147) P675

M 2 | W—BEAM END SECTION, 12 GA. 12.5' SF1303
N 1| MGS W—BEAM SECTION, 12 GA. 9'—4 1/4" | G12025
P 1| MGS W—BEAM GUARDRAIL, 12 CA. 15'=7 1/2"| G1507
Q 3 | MGS W—BEAM GUARDRAL, 12 GA. 12'-6" G1203A
R 1| DEFLECTOR BOX DBMT

S 2 | PIPE SLEEVE E740

gL 2 | WoOD POST (6) P674

HARDWARE

a 6 | 3/8" DA x 3" LAG SCREW E350

b 16 | RSI_SHOULDER BOLT w/WASHER SB12A

e 16 | 1/2" STRUCTURAL NUT NO12A
d 16 | WASHER WO12A
e 32 | 5/8" DIA. X 1 1/4" SPLCE BOLT B580122
£ 3 | 5/8" DA x 7 1/2° HEX BOLT B580754
P 3 | 5/8 DIA. x 10" HEX BOLT (POST 1, 2, 4) | B581004
h 1_|5/8 DIA._x 10" H.G.R. BOLT (POST 2) B581002
i 1_[5/8" DIA. x 18" H.G.R. BOLT (POST 3) B581802
k 6 |5/8 DA x 25" HGR. BOLT (POSTS 4-9) | B582502
m 46 | 5/8" H.G.RNUT NO50

n 6 | 5/8" H.G.R. WASHER w050

p 4 | 1" ANCHOR CABLE HEX NUT N100

q 4 [ 17 ANCHOR CABLE WASHER w100

r 1| Cable Tie CT-100S

GENERAL NOTES:

1. Refer to FLEAT—MT Assembly Manual.

2. Breakaway posts are required with the FLEAT—MT.

3. All bolts, nuts, cable ossemblies, cable anchors and plates

\/0/ [ ] I shall be galvanized.
©\\ i 4. The soil tubes shall not protrude more than 4" above the
® ﬂ_/® - ground (measured along a 5' cord). Site grading may be
O —F—; = HGtE TRk Feil necessary to meet this requirement. B
@: 9 e not bolted to Post 1 5. The spul tubes may be driven mth an approved dr'wmg
7{: I = | PACT HEAD €O DETAL head. Soil tubes should not be driven with the post in the
) et 1 Both tube. If the tubes are placed in drilled holes, the backfil
\® S dae material must be satisfactorily compacted to prevent
ot ) settlement. 1
6. When rock is encountered during excavation, o 12° Dia.
iahar Reil s nol post hole, 20" deep may be used if approved by the
under nat ottached engineer. Granular material will be placed in the bottom of
\ @ Post #3 $—+ the hole approx. 2 1/2" deep to provide drainage. The soil
gk te . iy i tubes will be field cut to length, placed in the hole and
P T backfilled with adequately compacted material excavated from
(I, m, B) ~ Both the hole.
* Sides 7. The breckaway cable assembly must be taut. A locking
S3 ® device (vice grips or channel lock pliers) should be used to
i, SECTION C—C prevent the cable from twisting when tightening nuts.
v 1,
® 2 \6‘,5 _____ ékf{s,ggo,,ﬁnchor Bracket @ Road Systems, Inc.
S XA CE NG S
& ®| | S5V TE2%  REVISIONS Median FLEAT MGS Terminal (FLEAT-MT-MGS)
i e vlfrdihe Syf  NoTBGE [ g DERPTON (21" Mounting Helght/TL-3/Median)
the top — = * P E = 1 - -
B Yk {R(3 XD Encineere, ic ™ 0312612017 FLEAT-MT-MGS
SECTION AA SEoTon 65805, STATERE_( @S e .
(Post 3) (Posts 5-7, 2™, e e 30F3 Florida APL No. S536-003-001

Z
Z

X7

/ s
T




		2017-04-09T16:09:08-0500
	Jim Wilkerson




